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600 THE—TH 10&1 2,105.90m  (¥96374%F) 34,957, 9401 16, 600/ m (54,900M/88) | 2 —IE 50% 100%
601 THE-TH 12%&4 380.73m  (#¥91151%) 1,233, 870M 19, 000/ m (62,800M/8F) | 2 —iE 60% 200%
602 THE—TH K 761.33m  (¥92301%) 15, 302, 733M 20, 1003/ m (66, 400M/8) | 3 —iE 60% 200%
603 EHER—TH 13%4 422.40m  (£9128%F) 9, 546, 240M 22, 6003/ m (74, 700Mm/8) | 2 e 60% 200%
604 FHE—TH 14%&7 204.31m  (#9621%) 4,270,079M 20, 9003/ m (69, 100M/81) | 1 —HE 60% 200%
605 EHE—TH 14%1 334.77m  (#¥91014%) 1,197, 5551 21,500/ m (M, 100m/88) | 2 —HE 60% 200%
606 FHE-TH 24%F1 465.57m  (¥91415F) 8,613,045 18, 500/ m (61,200Mm/8) | 2 ;3 50% 100%
607 EHE—TH 22%13 518.74m  (#91571%) 9,233,572 17,800/ m (58, 800M/81) | 1 g 50% 100%
608 EHE—TH 2985 381.44m  (#91151%) 7,933, 952 20, 8003 /m (68,800M/8F) | 2 —dE 60% 200%
609-1 EHE—TH 30%&1 333.26m  (#¥91014%) 6, 565, 222 19, 700M/m (65,100Mm/88) | 2 —iE 50% 100%
609-3 EHE—TH 30&9 333.30m  (#¥91014%) 6, 566, 010M 19, 700M/m (65, 100M/81) | 1 —iE 50% 100%
609-4 FHE—TH 30%&10 333.34m  (¥910111) 6, 566, 798F 19, 700M/m (65, 100M/81) | 1 —E 50% 100%
611 THE-TH 13%14 320.17m  (¥9971F) 6, 7817, 604/ 21,2001/ m (70,100Mm/8) | 2 —tE 60% 200%
612 THE-TH 10%4 278.33m  (f9841F) 5,232, 604 18, 800/ m (62,100Mm/8) | 2 —tE 60% 200%
613 EHERZTH 11&H1 330.58m  (#91001F) 6,512, 426 19, 700M/m (65,100M/89) | 2 —i& 50% 100%
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614 EHEEZ-TH 11F15 523.04m (#91581F) 11,036, 144H 21, 100M/m (69, 800 /1) 2 —IE 50% 100%
615 EHEZ-TH 278 479.32m (#91458F) 9,778, 128H 20, 400 /m (67, 400 /1) 2 —hE 60% 100%
616 EHE=TH 41 366.90m (F91118E) 6,567, 510M 17, 900/ m (59, 200/ /1E) 2 —IE 50% 100%
617 EHE=TH KE 188. 69m (#9571F) 3,811,538M 20, 200M/m (66, 800 /1) 2 —hE 60% 200%
618-1 EHERZ=TEH 1681 558.05m (%91691%) 11,719, 050H 21,000 /m (69, 400 /1) 2 5 60% 200%
618-2 EHE=TH 16%&I10 522.68m (%91581%) 10, 976, 280M 21,000 /m (69, 400 /1E) 2 5 60% 200%
620 EHERZ=TEH 10& ,081.65m (%99321%) 56, 086, 030H 18, 200/ m (60, 200 /1) 4 —IE 50% 100%
621 EHERZ=TEH IES ,226.24m  (#91, 2781F) 79, 875, 936 18, 900/ m (62, 500 /1) 4 —IK 50% 100%
623-1 EHE=TH 18%14 550.13m (#$91661%) 9,572, 262H 17, 400/ m (57, 500 /1) 1 —IK 50% 100%
623-2 EHE=TH 18%13 549 47m (#$91661%) 9,560, 778H 17, 400/ m (57, 500 /1) 1 —IK 50% 100%
623-3 EHE=TH 18%12 549 64m (#$91661%) 9,563, 736 M 17, 400/ m (57, 500 /1) 1 —IE 50% 100%
623-4 EHE=TH 18%F11 ,185. 77m (#93591%) 20, 632, 398H 17, 4001/ m (57, 500 /%) 1 —iK 50% 100%
624 EHEZ=TEH 189 ,264.85m (#93831%) 23, 146, 755H 18, 300/ m (60, 500 /1) 2 —IiK 50% 100%
625-1 EHERZ=TEH 18%&7 397.43m (#91201%) 7,233, 226 18, 200/ m (60, 200 /1) 1 —iK 50% 100%
626-1 EHE=TH 186 400.01m (#£91211%) 7,280, 182H 18, 2001/ m (60, 200/ /%) 1 —IK 50% 100%
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626-2 EHE=TH 185 400.02m (#91218F) 7, 280, 364 18, 200/ m (60, 200/ /1) 1 —IE 50% 100%
626-3 EHE=TH 18%4 400.02m (#91218F) 7, 280, 364 18, 200/ m (60, 200/ /1) 1 —IE 50% 100%
627 EHE=TH 196 511.39m (#91558F) 10,176, 661H 19, 900/ m (65, 800 /1) 2 —hE 60% 200%
628-1 EHE=TH 20&16 325.18m (#9981F) 5,950, 794H 18, 300/ m (60, 500/ /1E) 1 —IE 50% 100%
628-2 EHE=TH 20&15 325.18m (#9981%) 5,950, 794H 18, 300/ m (60, 500/ /1E) 1 —IE 50% 100%
628-3 EHE=TH 20&14 325.19m (#9981%) 5,950, 977H 18, 300/ m (60, 500/ /1E) 1 —IE 50% 100%
628-4 EHE=TH 20&13 325.20m (#9981%) 5,951, 160M 18, 300/ m (60, 500/ /1E) 2 —IE 50% 100%
629-2 EHE=TH 20&10 301.67m (#9911%) 5,249, 058M 17, 400/ m (57, 500 /1) 1 —IK 50% 100%
629-3 EHERZ=TEH 2029 301.67m (#9911%) 5,249, 058M 17, 400/ m (57, 500 /1) 1 —IK 50% 100%
630 EHERZ=TEH 2023 408. 41m ($91241%) 7,473, 903M 18, 300/ m (60, 500 /1) 1 —IK 50% 100%
631 EHERZ=TEH 2025 594. 71m (%91801%) 10, 229, 012H 17, 2001/ m (56, 900F /1) 1 —IE 50% 100%
632-1 EHEZ-TH 4316 369.94m (#£91121%) 6,510, 944H 17, 6008/ m (58, 200 /%) 1 == =1 60% 200%
632-2 EHEZ-TH 4315 327.05m (#9991%) 5,756, 080H 17, 6008/ m (58, 200 /%) 1 == =1 60% 200%
633-1 EHEZ-TH 414 340.36m (£91031%) 5,990, 336H 17, 6008/ m (58, 200 /1) 1 == =1 60% 200%
634 EHE-TH 436 236.57m (#9721%) 4 873, 342H 20, 600/ m (68, 100 /1F) 1 == = 60% 200%
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635-2 EHEZ-TH 62516 442 . 43m (#91341F) 7,654, 039 17, 300M/m (57, 200 /1
635-3 EHEZ-TH 6215 ,568.12m (#94741F) 27,128,476 17, 300/ m (57, 200/ /&) 2 —IE 50% 100%
636 EHEZ-TH 3F14 341. 11m (#9103%F) 6,276, 424H 18, 400/ m (60, 800 /1) 1 —IE 50% 100%
637 EHEZ-TH 3&2 806. 49m (#92441F) 16, 452, 396 M 20, 400M/m (67, 400/ /1) 1 —hE 60% 200%
638 EHEZTEH 91 124.91m (#9381%) 2,498, 200M 20, 000 /m (66, 100/ /1E) 2 —hE 60% 200%
i T —fg % 200%
639 EHEZTEH 92 85.76m (#9261%) 1, 715, 200 20, 000M/m (66, 100/ /1E) 1 == 60
640 EHREZTEH 918 293.54m (#9891%) 5,988, 216HM 20, 400M/m (67, 400 /1) 1 —hE 60% 200%
643 EHEZTEH 181 564. 11m (#91711%) 11,282, 200M 20, 000/ m (66, 100/ /1) 2 —IK 50% 100%
644-1 EHEZ-TH 18%F12 425.00m ($91291%) 8,032, 500M 18, 900/ m (62, 500 /1) 1 —IK 50% 100%
644-2 EHEZ-TH 18F11 425.00m ($91291%) 8,032, 500M 18, 900/ m (62, 500 /1) 1 —IK 50% 100%
645 EHEZTEH 2273 433.38m ($91311%) 8,580, 924H 19, 800/ m (65, 500 /1) 1 —{F 60% 200%
647 EHEZTH 168 240.10m (#9731%F) 5,018, 090H 20, 900/ m (69, 100 /%) 1 == =1 60% 200%
648-4 EHE=TH 23%13 373.47m (£91131%) 6, 535, 725H 17, 5001/ m (57, 900F /1) 1 —IiK 50% 100%
648-5 EHERZ=TEH 23%6 433.08m (£91311%) 7,578, 900M 17, 50081/ m (57, 900F /1) 1 —iK 50% 100%
648-6 EHE=TH 23%&5 345.02m (£91041%) 6,037, 850H 17, 50081/ m (57, 900F /%) 1 —IK 50% 100%
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648-7 EHE=TH 23%4 345.02m (#9104£F) 6,037, 850M 17, 500/ m (57, 900 /&) 1 —IE 50% 100%
648-8 EHE=TH 2373 345.01m (#9104£F) 6,037, 675M 17, 500/ m (57, 900 /&) 1 —IE 50% 100%
649-1 EHE—TH 29%7 387.44m (F91178E) 7,748, 800 20, 000 /m (66, 100/ /1E) 1 —IE 50% 100%
649-2 EHE—TH 2976 387.33m (F91178E) 7,746, 600 20, 000 /m (66, 100/ /1E) 1 —IE 50% 100%
650-1 EHE—TEH 8&F1 307.65m (#9931%) 6, 706, 770M 21,800 /m (72, 100/ /&) 2 5 60% 200%
650-2 EHE—TEH 83 269. 41m (#9821%) 5,873, 138H 21,800 /m (72, 100/ /&) 2 5 60% 200%
652 EHE—TEH 16852 704.53m ($92131%) 15,570, 113M 22,100M/m (73, 100 /&) 1 5 60% 200%
654 EHERZ=TEH 4313 208. 49m (#9631%) 4,253, 196 20, 400 /m (67, 400 /1) 2 —IK 50% 100%
656 EHE—TH 28%15 89.25m (#9271%) 1,615, 425H 18, 100/ m (59, 800F /1) 1 —hE 60% 200%
657 EHE—TEH 2978 1,793.72m (#95431%) 36,053, 772H 20, 100M/m (66, 400 /1) 2 —IK 50% 100%
658 EHEZTEH 433 201.05m (#9611%) 4,061, 210 20, 200M/m (66, 800F /1) 1 == = 60% 200%
659 EHEZTH 109 220.50m (#9671%) 4,652, 550 21, 100M/m (69, 800 /1) 2 —hE 60% 200%
660 EHEZ=TEH 11E1 428. 45m (£91301%) 7, 840, 635M 18, 300/ m (60, 500 /1) 3 —IiK 50% 100%
901 EHERZ=TEH 1152 2,651.68m (#98021%) 48,525, 744H 18, 300/ m (60, 500 /1) 3 —iK 50% 100%
902 EHE=TH 1222 1,693.88m (#95121%) 29,981,676 17, 7001/ m (58, 500 /%) 3 —IK 50% 100%
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903 EHEMTH &8 3,628.48m  (#91, 0981E) 80, 552, 256 22, 200/ m (73, 400M/tF) | 2 #ET 60% 200%
904 EHEMTH 132 7,693.24m  (#92, 3271F) 141, 555, 6161 18, 400/ (60, 800F/£E) | 1 #ET 60% 200%




